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Directions : In this section, you have to spot errors in sentences. Read each sentence to
find out whether there is_an error in any underlined part. Errors, if any, are only in the
underlined parts. No sentence has more than one error. Letters (a), (b){and {c) have been
placed beneath the underlined parts for their identification. When you find an error in
any one of the underlined parts, indicate your response on the separate Answer Sheet in
the relevant column. You may feel that there is no error in the sentence. In that case,

letter (d} will signify a ‘No error’ response,

1. The pile of books are missing. No error

(af (o (d)

2. Either he or 1 are wrong. No error

{a) {b) (c} (d)

3. Please tell to him to do his work. No error

(a) (b} (c) (d)

4. Though he is good he is mischievous. No error

(a) (b} (c}

5. The thief hit me suddenly and hardly. No error

(a) (b {c)

B-MCZA-N-FZS/47A 2
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The number of books in our library is less. No error

{a) (b) {c) (@)

The general said, “Soldiers, do not fire till I will give the order.” No error

(a) (b) {c) (d)

Neither of the candidates are good. No error

(a) ) (o (d)

This machine is more efficient than any other equipments in the workshop.

(a) (b) {c)

No error

(d)

The tin deposits in that area would probably be exhausted in to near future.

faj {b) (c)

No error

()

The operation of this machine is different to that of the other. No error

(a) (b) {c) d}

B-MCZA-N-FZS/47A 3 [P.T.O.
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SENTENCE IMPROVEMENT

Directions : Look at the underlined part of each sentence. Below each sentence three
possible substitutions are given for the underlined part. If one of them, i.e., {a), (b} or (¢} is
better than the underlined part, indicate your response on the Answer Sheet against the

corresponding letter. If none of the substitutions improves the sentence, indicate {d} as your
response on the Answer Sheet.

12. 1 don't remember exactly when did

13.

14.

I go to Simla last year.
fa} when I did go

(b) when I was going
{c¢/ when I went

{d) No improvement

Even he worked hard, he failed in the
examination.

fa) Since
{bj Although
fe) For

fd) No improvement

He was asked to arbitrate with two
merchants in a dispute.

{a) to arbitrate between
(b) to arbitrate at
{¢) to arbitrate

{d} No improvement

B-MCZA-N-FZ5/47A

15.

16.

17.

He is definitely the cleverer among
the two.

{a) in
{b) of
fc} than

fd) No improvement

He is resembling his father.
fa) has resembled

(b} was resembling

{c) resembles

fdj No improvement

Would you mind m the window?
{a} to close

{b}) in closing

{c) for closing

{d) No improvement
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18. I can be grateful if you could write to
me about it.

19,

20.

(a)

{b)

c)

(d)

would be

should be

must be

No improvement

A majority of the passengers could
have been saved if the driver had

applied the brakes in time.

(a}

(b)

(c)

(@)

had been saved

may have been saved

could have saved

No improvement

He is living in this house for the past
ten years.

(a)

(b)

(c)

()

was living

had been living

has heen living

No improvement

B-MCZA-N-FZ5/47A

21. He is knowing the sécret.

{a} knows
{b} has been knowing
{c)] was knowing

{d} No improvement
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22. The meeting has been put off to

Friday next.

{fa) put on

(b} put out

fc) put for

(d) No improvement

23. I you will come with me I shall be

happy.

fa) come with me
(b} had come with me
fc) came with me

{d} No improvement

[P.T.O.
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Directions : Each of the items in this section contains a blank followed by words listed
as (a}, (b}, {c) and (d). Choose the most appropriate word to fill in the blank and indicate
your response in the Answer Sheet accordingly.

24. When the police arrived, the thief —— away.

25.

26.

27.

(a)
(b)
fc)
(d)

His —— as an officer was not quite satisfactory.

(a)
(b)
fc]
(d)

The
{a)
{b)
{c)
(d)

The
(a)
{b)
(c}
(d)

strolled
moved
galloped

ran

acting
doing
deed

record

two children stood at the —— of the table.
conclusion

terminal

end

termination

old man was —— weak to open the door.
very

far

much

too

B-MCZA-N-FZS/47A 6
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ANTONYMS

Directions : Each question in this section consists of a word printed in capital letters
followed by words listed as fa}, {b), {¢) and (d). Choose from these the word that has most

nearly the meaning opposite to the word in capital letters and indicate your response in the
Answer Sheet accordingly.

28. FRAIL
{a) strong {b} big
fc) old (d} weak

29. INDIGENOUS

fa) genuine {b) foreign
£
{c) indigent {d) indignant
30. POVERTY
fa) prosperity (b} adversary
{c)] adversity (d) diversity

31. WHOLESOME

{a) complete {b) unhealthy

(c) incomprehensible {d) few

B-MCZA—N—FIZSI 47A 7 {P.T.O.
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COMPREHENSION

Directions : Read the following short passages. After each passage, you will find several
questions based on what is stated or implied in the passages. Answer the questions that
follow each passage.

PASSAGE—]

In a free country, the man who reaches the position of leader is usually one of outstanding
character and ability. Moreover, it is usually possible to foresee that he will reach such a
position, since early in life one can see his qualities of character. But this is not always true
in the case of a dictator; often he reaches his position of power through chance, very often
through the unhappy state of his country. It is possible that Hitler would never have become

the leader of Germany if that country had not been driven to despair.

32, In a free country, one who becomes

a leader

1+

(@) must be of outstanding
character and ability

{b} must show qualities of character
from an early age

{c) is pgenerally of a remarkable
character and ability

{d) must see that his country is free
from despair

34.

{c/ Germany was in despair

(d) Germans wanted a dictator

The passage seems to suggest that

{a} despair sometimes leads to

dictatorship

(b) Hitler was no leader

33. Hitler became a leader because {c} aleader is chosen only by a free
country
{a} he exhibited leadership qualities
{d) a leader foresees his future

(b} Germany was a free country

B-MCZA-N-FZS/47A
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PASSAGE—II

The dog is a very intelligent animal and it can be trained for many duties. Some dogs work
with the police and the army as sentries and trackers, and there are medals that are awarded
to dogs for bravery in action. Other dogs act as seeing-eyes for the blind, and some breeds
are specially trained for rescue work among mountains and snow. Jobs like herding sheep
and cattle and guarding homes are also done by them. Whenever man lives and works in the
Arctic Circle, in the desert, in the jungle, in the moors or mountains, the dog is his faithful

companion and help. A common mongrel may possess these qualities just as much as the
aristocratic bloodhound.

35. The passage tells us that dogs

36.

(a)

(b)

(c)

(@

can be trained to do different
kinds of work

are capable of difficult work

are of different types

alone are a great help to man

Medals are awarded to some dogs for

(@)

(b)

(c)

(d)

their brave deeds

working with the police

serving as sentries

being able to perform difficult
work

B-MCZA-N-FZS/47A

37. The passage implies that

fa) only dogs are faithful but not
man

1

fb) man would have felt helpless
without dogs

fc} the dog has certain qualities
that make it man’s trustworthy
companion

d) dogs can do almost anything

38. The phrase ‘aristocratic bloodhound’
in the passage means '
fa) the dog kept by wealthy people
(b} a pedigree dog

{e) a dog fond of blood

(d) any big dog

"[P.T. O,
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SELECTING WORDS

Directions : In the following passage at certain points, you are given a choice of three
words marked (a), {b) and (c), one of which fits the meaning of the passage. Choose the best
word out of the three. Mark the letter, viz., (a), (b) or {¢}, relating to this word on your Answer
Sheet. Examples K and L have been solved for you.

The K. {a) boy was in tl_ue school in Simla. L. {a) She was homesick.
(b} horse (b) 1t

{c/ dog ' fc} He o

Explanation : Qut of the list given in item K, only boy’ is the correct answer because usually,
a boy, and not a horse or a dog, attends school. So {a) is to be marked on the Answer Sheet
for item K. A boy is usually referred to as ‘he’, so for item L, (c] is the correct answer.
Notice that to solve the first item K, you have to read the rest of the sentence and then see
what fits the best. |

PASSAGE

Drobny defied the critics. He had played through the Wimbledon fortnight and reached the
final. Could he win just one more match and take the crown, or would he fail again at
the last test and justify those who said that he lacked that little extra something that makes
the champion? His opponent was the Australian Ken Rosewall, 39. {a} that brilliant

(b} a

{c) the

youngster and already a master 40. (a) with worldwide experience’ behind him.

(b} of

fc} for

B-MCZA-N-FZS/47A 10 .
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Jaroslav Drobny, . 41. {a} a son of a Czech carpenter who 42. (@) had started the

{b) that (b} was
{c}) the {c) has
boy off at the 43. (a) age of five with a wooden ‘bat’ in lieu 44, (a) for a racquet,
{b} stage (b} of
{c) career " fo) to

went on 45, (a) to the famous Centre Court at Wimbledon 46. (g} in day with
{bj for : (b} on

fc] with (¢} that

the full knowledge that this 47. fa) can be the game of his 48. {af life. He had

(b} must (b} age.
{c) would (¢} day.
kept on trying, and 49. fa} he could keep on trying, but 50. {a) games would
(b} one (b} matches
fe) you {c} opportunities

become fewer and fewer. He knew that he had to gain an advantage from the start,
and he had this young rival set off against him.

B-MCZA-N-FZS/47A 11 [P.T. O.
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PART—B

51. Which of the following statements 53. Consider the following statements
about the Progressive Writers’ about Param Vir Chakra’ :
Association, which created a L . ,
generation of creative people, is/are 1. It is the highest peacetime
correct? gallantry award.

1. It thought critically about the 2. It is the replacement of British
poverty and hunger of the Victoria Cross.

Indian people. 3. [Itcan be awarded to civilians.

2. It brought out the positive

developments of colonialism. Which of the statements given

3. Its creative pursuits began above is/are correct?
with a critical evaluation of
Gandhian politics.

4. It planned India’s development () 1 only
model.
(b) 2 only
Select the correct answer using the

code given below. {c 2 and 3 only

) 1 only (d 1,2 and 3

{6} 2 and 3

fej 1 and 4 54. Gandhiji's ‘Harijan Campaign’

: sought to
fd} 1 and 3 '
1. attack caste system as a whole

52. E._ V. Ra.maswami Naicker was l 2. open wells, roads, temples,

associated with , etc., to Harijans

1. reforming Brahminism 3. encourage social work among

2. the Self-Respect Movement Harijans

3. the Low Caste Movement ]
Select the correct answer using the

4. the Communist Movement code given below.

Select the correct answer using the
code given below.

fa} 1 and 2
fa} 1,2, 3 and 4

(b) 2 and 3
{b} 1 and 3 only
{¢/ 1 and 4 only fc) _ 1 and 3
{d} 2 and 3 only ‘ {d}] 3 only

B-MCZA-N-FZS5/47A 12 2
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51.%%%@%@%%8%%@.

geteiter | A T e = Fmior feam,
frofefrs = § 3 S9-m/A wd
2/8?

1. @ OEy SHa f el el
Rl & TR & i fame

2. T I9HATER ¥ FEEers 9IonE
=H A T

3. THeR weiAoTR mhafatml it
it & wftenens Toied & @y
WY g5

4. 3IWA 9E & g wiew i '
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R Re T g w W oW oad W
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(a) Fad 1

(b) 233

c) 134

(dj 133

52. %o o yATET TEH frud wIerg 47

FEER & g Y
w3k |/
e onfy emelem @
TI=EE AR o

e Ru T g2 w1 Wi W oad s
T |

@ 1,2, 334

(b) F=w 13 3

(c) a1 3R 4

(d) Fae 2 3R 3

R
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(b} FaA 2

(c) Faw 2 it 3

(d) 1,233
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(a) 132
() 233
fc) 133
(d) e 3
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55. The Salt Satyagraha called by 58, Which of the following was/were the

57. During the Civil

Mahatma Gandhi saw the

1. violation of salt laws along
coastal India

participation of women

upward swing when it came to
the working class joining in

Select the correct answer using the
code, given below.

fa) 1 and 3 only
(b) 2 only

{c 1 and 2 only
(d) 1,2 and 3

new feature/features visible in the
Quit India Movement (1942)?

1. Large-scale movements in
some of the industrial areas

2. Large-scale mass involvement
in some of the Princely States

3. Increase in the activities of the
Kisan Sabha

Select the correct answer using the
code given below. '

fa} 1, 2 and 3

(b} 1 only

fc 1 and 3 only

56. What was the code name for the (@) 3 only
Indian Air Force operations during
the Kargil Conflict of 1999? 59. The Financial Sector Legislative

(a] Operation Vijay

(b} Operation Meghdoot

{c) Operation Indradhanush
{d} Operation Safed Sagar

Disobedience
Movement, tribals in Chota Nagpur

1. gave up opium consumption
2. wore Khadi

3. gave up drinking liquor and
- eating meat

Select the correct answer using the
code given below.

fu} 1 and 3 only
(b) 1 only

fc) 1,2 and 3
fd} 2 and 3 only

B-MCZA-N-FZ5/47A

14

Reforms Commission report
submitted recently, among others,
contained which of the following
proposals?

1. All regulators will have an
empowered board, the role of
each of the members has been
defined.

2. The Commission envisages an
important process of judicial
review of the regulations.

3. The draft code does not
mention about executive
powers.

Select the correct answer using the
code given below.

fa) 1 and 2 only
{b} 2 only

¢ 1 and 3 only
{dj 1,2 and 3
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55. WETHl T F AEA THEH WeAWE A T
gffem fe?

1. QT IR § 9 FH 1 Ige
2. wARkenett & wewiE

3. & ufe @ e § it @9
o, O ! aUEA g

™ g ™ g2 w WM W D TN
ghui

fa) ¥Fa@ 1 3R 3

(b) had 2

(c} Fad 1 3 2

{d 1,233

56. 1999 & wfw wed & www vRdE Ay
& i wirmetl w1 2 am T av?

(a) AT fem
(b) SRR Heqy
(c) WRAR FRugY
(d) ATRIA TG BIR

57. mmm%m,m%
anfeafymt 3

1. 2rfig fa9 a=< = fom
2. @ gEd
3. AT 4 wE 71w wE a9 w1 B

R e mm gz w1 W W oad W
Sl

(a) Fa& 1 3R 3

(b) e 1

¢ 1,233

(d) F=a 2 3k 3

B-MCZA-N-FZS/47A
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58. F=fafaa & @ FR-w/A /A w0
VRA BIE AFEReE (1942) # g
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1. 9 uife &t § 93 IR W

<t

2. B WEE famed ® 58 o o wm
ECHUGH

3. e A RRRE § ot

T g w g W WM W R W
e

fa) 1, 233

(b) FAA 1

fc) waw 1 3R 3

{d) 3

59. faxitw & Rurelt guw o A @ §
yega T #, s =@l F ogiy-mm,
Frafafan Temet # @ F9-m/a miw
B/87

1. oft et = s ariterr-gm a9
T, o yew wew A i
aforfia & 7 21

2. = awm fafet & AR

gAfdeiies #H AEEq g
qitheu T = 21

3. @fEar & weY wEder uiea @
3@ Fdl +ar|

9 R T F2 =1 W1 W gl W
ghT|

fa) %A1 3 2

(b) ¥ 2 |

c) Faw 13t 3

[d) 1,233

[P.T.O.
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60. The Swadeshi Movement evoked
serious responses in

{a} Madras and Hyderabad
(b) Bengal and Maharashtra
{¢) Bihar and Orissa

(d) the Princely States

61. Who among the following was
associated with the Gudem-Rampa
Rebellion?

{a) Birsa Munda
(b} Kushal Konwar
{¢) Alluri Sitarama Raju

(d) Mangal Pandey

62. The Bali Ministerial Declaration and
the ministerial decisions that were
adopted on 7th December, 2013
contained several issues. Which of
the following are related to the
Least-Developed Countries?

1.  Preferential Rules of Origin for
Least-Developed Countries

2. Operationalization of the
Waiver Concerning Preferential
Treatment to Services

3. Duty-Free and Quoata-Free
(DEQF) Market Access for
Least-Developed Countries

Select the correct answer using the
code given below,

fa) 1, 2 and 3

(b} 1 and 2 only
{¢/ 1 and 3 only
{d} 2 and 3 only

B-MCZA-N-FZ5/47A le
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63. The Doctrine of Lapse’ was a policy
that aimed to

fa) control the rebellions in the
Princely States

{b) extend the military strength of
the British

fc) regulate the landlords

{d] extend the territorial boundaries
of the English East India
Company

64. The Permanent Settlement of 1793
introduced

fa] peasant rights

{b} bourgeois property rights in
land to Zamindars

fc) shipping rights for the English
East India Company

{d} rights for women to have
property rights

65. Which of the following is/are true
relating to the Lokpal Bill, 2013,
which was assented to by the
President on 1st January, 2014?
1. It provides for creation of anti-
graft ombudsman to investigate
corruption charges against
public functionaries including
the Prime Minister, Ministers
and Members of the Parliament.

2. The Bill makes it incumbent
upon States to make within a
year their own law for setting
up Lokayuktas on the lines of
the Lokpal Bill.

3. States are free not to set up
Lokayuktas, if they do not so
desire.

Select the correct answer using the
code given below,

fa) 1 and 2 only
(b) 2 and 3 only
fcj 1 only

d 1,2 and 3
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60. el I=iew H R sE WA

sl g7

(o) TEE Ud TR
(b) ST UH HEIE
fc) TR @ I
(d) e feamaa

61. frfifian # @ 9\ Ra-vw fdw A

gEg 97
(a) fowan yoet
(b) FUA FH

(c) SAZR Hamm T
(d) W qIUg

62. arclt it ufEl it Hiwwn e Aqfigt & Pl

#, st 7 fwrar, 2013 # figa fog
Ty, @gd @ e A Fefefae § @ =R
areqan e 2wt @ arafam @7

1. gy fowfe @wil g st
g fram

2. Q@ Aot sEEr @ gEg
ftreasm $t wfEreHta

3. orewad fawfed aot 39 WIEH-g®
g Hl-gF (DFQF) AR FeIwal

2 Ru T H @ W@ WA ITW
gl

fa) 1,233
(b) FFF 1 3K 2
(c) Haw 1 3R 3
(d) Fae 2 3 3

B-MCZA-N-FZ5/47A
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63, ‘Tsg-mee fifq gasimﬁ Hifg oft, e

R 41
(a) wdE et @ fme = frta

Exci
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(c) Hieri % Frafa wen
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64. 1793 & W SaK ¥ T LI
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(a) ToFEm & STfiR
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I1ferenRTC
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EREucieibea

(d) wfgensii & w-sfiwn W+
arftreEr
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2 .

f= fir m = &y w Hd IW

gt

fa) ¥R 1 3R 2

(b) FaE 2 AR 3

fc) FA 1

(d 1,233
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66. Whao
associated with the

among the following was

Hindustan

Socialist Republican Association?

{a)
(b}
(c}
(d)

67. The

Subhash Chandra Bose
Mahatma Gandhi
Bhagat Singh

Laxmi Sehgal

Indian National Army was

organized to fight against

(a)
{b)
(<)
(d)

Germany and Japan
the British in India
Japan

Russia

68. Which of the following is/are true
relating to Nelson Mandela?

1.

He was the first President of
South Africa.

Mandela spent 18 years in
prison on Robben Island.

Mandeia became the President
in 1990 after his release from
the prison.

Select the correct answer using the
code given below.

(a)
(b}
(c)
(d}

1 and 3 oniy
2 and 3 only
2 only

1, 2 and 3

B-MCZA-N-FZS/47A
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69. The Non-Cooperation Movement was

withdrawn after the

(a)
{b)
(<)
(d)

First World War
Chauri-Chaura Incident
Bardoli Satyagraha

Gandhi-Irwin Pact

70. Which of the following books was

written by B. R. Ambedkar?

{a) The Discovery of India

(b) My Life

c) Buddha or Karl Marx

(d} Hind Swaraj

71. Which of the following is/are correct

relating to the North-Eastern Region
Community Resource Management
Project for upland areas?

1.

It is a livelihcod and rural
development project aimed
to transform the lives of the
poor and marginalized tribal
families in North-East India.

This  Project is
exclusively by the
Eastern Council.

initiated
North-

Select the correct answer using the
code given below.

{a)

1 only

(b) 2 only

fc} Both 1 and 2

{d] Neither 1 nor 2
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66. ffafaa # @ = g Al 69, IEFAT A[ITH JE o form wE ar

frafser it & wrarg 97
(a) GO T

(b) TETEH WL

fc) v fe

(d) <& T

67. sme k= we (Gfem dwme awdl) =

e forh /fros faeg ofed & fore foen

TV oY

fa) ST AU FAH
(b) a7 fafem
@ S

(d) &8

68. Yoy " ¥ ey § Fefafae A R

- /A T R/ET
1. 3 gfie anfie % gzl TEul 2

2. WAl A Uod £ féa 99 & 18 a9
forama)

3. W9 ¥ YA F € 1990 F wI
gt =41

= Rt F W W T W
g

(a) a1 3R 3
(b) Fa@ 2 3N 3
(c) THaAA 2

@) 1,233
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(a) YoM 49 g5 & 9
(b) S-S T IR
(c) TR TEWE % AR
(d) Vith-3thm Tgha % 9

70. Trafofaa gersl § | HW-H e Ao

aveEaR ga fordt reft ofi?
(a) 7 femratt are sl
(b) F A

(c) & R FIcA qrad

(d) fe @us

71. F=aqfl &3 v @R &F EgEiie gem

YA UiEeET § geafad frefefea #
¥ HH-9/4 " 2/87

1. I Uw aElfas @ o o
# yiEE 2, fom 1w @
e H Ty ' S
qREr & sfaq o gfEda @ 2|

2. 3@ GMENAT F Y T W qE
gftyg (id-$w= Sef) gu aoy
foramt T B

3 e m fz F W W Gd IJTW
Ry

(a) FEA 1

(b) FEE 2

fc) 1 3R 2T
(df a1 2
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72. Which of the following statements 74. Consider the following statements

are true for the Fundamental Right
to Life and Personal Liberty as
guaranteed under Article 21 of the
Constitution of India?

1. The Right is available to
citizens as well as aliens.

2. It covers protection against
arbitrary executive and
legislative action.

3. Itincludes the right to live with
human dignity.

4. It can be taken away according
to the procedure established by
law.

Select the correct answer using the
code given below.

fa) 1, 2 and 3 only
(b} 2, 3 and 4 only
(c) 1,2,3 and 4
(d) 1 and 4 only

73. Consider the following statements :

1. ‘SAMARTH 2014°, a national
festival for showcasing the
abilities of persons with
disabilities, was organized
recently in New Delhi by the
Ministry of Culture.

2. India is a party to the
United Nations Convention on
the Rights of Persons with
Disabilities.

Which of the statements given
above is/are correct?

fa} 1 only

fb} 2 only

fc) Boi;h 1 and 2
(d) Neither 1 nor 2

B-MCZA-N-FZS/47A
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about ‘Sahayog Kaijin’ ;
I. It is a joint exercise of the

Coast Guards of India and
Japan.

2. Its 13th edition was held
recentty off Chennai Port.

Which of the statements given
above is/are correct?

{a 1 only
(b) 2 only
fc¢/ Both 1 and 2

{d} Neither 1 nor 2

75. Consider the following statements

about grand slam tennis

tournaments :

1. There are four grand slam
annual tennis tournaments.

2. The first grand slam of a year
is the US Open.

3. The Australian and the US
tournaments are played on
grass court.

Which of the statements given
above is/are correct?

fa) 1,2 and 3
fb} 1 and 2 only
fc/ 1 only

{d} 2 and 3 only
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72. YR % ®faM & FIRRT 21 F A
Ty W 3 3w A & uw
R % o frefofa @ & =@-1
o T §7

1. a8 Afmr s W@ a=eimt =
ot Juerey R

2. @ﬁﬁ@mﬁm&tﬁm@%m
AT W HIETOT H AR § |

3. TEH AEEE T | S &
sftrr wisfera 21

4. R fafu gro wnivg when F ogEr
P 1 Heww 2

2 fu ™ oge = owEm oW oad T
gfm)

fa) a1, 23ﬂ'(8

(b) Fawt 2, 3 3 4

) 1,2, 33N 4

(d) Fa@ 13 4

73. freafeiaa wuEl w fEw il .

1, fom =frt & ot @
Hﬂﬁh%ﬁmuﬁam ‘Fad
2014', Tl HEm 30 R
ﬁmiﬂﬁmﬂ’tﬁﬂmﬂml

2. ya Ry =Reat & HAlteR-
fowas oy g AtwE WL T

fowm 21 L
I & § IH-W/A FYE 9E /7
fa) Fad 1
(b) a2
c) 1323

(d) 7@ 13T R2
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74, ‘ggEm FwES k 9R § Ftafad s
T fa=m hifem

1. agﬂmaﬂtw%maﬁmqaﬁ
TIH A B

2. TUHI 139 qE =T TN ¥
T F | g

“E.

IS § A FH-| /T FA wd /R
o) FEE 1

(b} FIA 2

(0 1323

(d) T stAad 2

75. ¥z @i Fw @ie & ) § Frafafes
FyA) o fa=m i

1. ww ¥ W@ afis e il &
£

2. T # WA ¥ WW go wWo
A g Ry

3. ofiRfermd st go wmo ZAHZ UMW
He "ol Wi B

@@ﬁﬁ%aﬁq—m/@rwﬂﬁ%/ﬁ?
fa) 1, 23R 3 |

(b) Had 1 3R 2

(c) ¥ 1

(d) Fas 2 A 3
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Directions :

The following six (6) items consist of two
statements, Statement I and Statement 1I.
You are to examine these two statements
carefully and select the answers to these
items using the code given below :

Code :

(a) Both the statements are
individually true and
Statement II is the correct
explanation of Statement I

b} Both the statements are
individually true but
Statement II is not the correct
explanation of Statement I

{c) Statement I is true but
Statement II is false

{d} Statement 1 is false but
Statement II is true

76. Statement I :

Minerals are formed by slow
cooling of the magma,

Statement 11

Very small crystals are formed
when lava cools quickly on the
surface.

77. Statement [ ;

The Kullu Valley in Himachal
Pradesh receives copious snowfall
during winter.

Statement Il

The Kullu Valley receives
moisture-bearing wind of the
Western  Disturbances  during
winter.

B-MCZA-N-FZS/47A
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78. Statement I :

The hills with dense vegetation
cover do not experience heavy soil
erosion.

Statement II :

The vegetation cover helps
infiltration of rainwater and
binding of soils.

79. Statement | :

The decrease of air temperature
with increasing altitudes in the
atmosphere is called the vertical
temperature gradient,

Statement II :

In Troposphere, air temperature
decreases with increasing altitude
due to radiation from the Earth.

80. Statement [ :

Chemical weathering processes
are found more active in hot and
humid environment.

Statement II ;°

High temperature and rainfall help
in the process of decomposition of
rocks.

81. Statement [ :

The acceleration due to gravity
decreases with increase in height
from the surface of the Earth.

Statement II :

The acceleration due to gravity is
inversely proportional to the
square of the distance from the
centre of the Earth.
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fdw -

frfafaa o8 (6) weaiot # B wu §, HUA-1
3R Y1l TR 31 A Fedl A gEard |/
wiien weh R ot HR Ry g w2 w1 W WA
T % I G E ;

H :

(@) & & wU afdd: ww § e
FUA-11, -1 H1 qE) wEwR 2

@) T E wuA =Ea g € feg
FYA-I1, &A-1 1 &l TER
T 8

(c) FuF-1 e R, T w1l e

2

(d) FA-1 3w g, g Fea-10 -
3

76, YA -

afrw, 3 e heem g ARk 2R
2l

FYA-I1

W& §ag W E] ga Iafe @ §, @
A =g fareem Fififa 2 2

77, HY-1:

femraat W B Hg A F weww #
aga foe fewmama S 21
HYA-I1 :

owe & g o 7 ofieft fsia =
AT Ta T B
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78.

F=YA-] :

Y qe-3Te el weifed wowd
. TRT A9 T

G o P

79.

80,

81

FITIT-STE A9 SIS & ST:TEA AU
T2l §97 ¥ TEES &

Y- ;

qgrved § dgdft $91E & WY-91g a1y
F aOTR # T SR qY E
gl 31

SyA-11 :

givvea § Sgdl SO 5 WY-EY 9y
& argeH 8§ g i @ fafew & @wrm
el &

HYd-] :

AR 1 3 JETa A THEE 37uEm
e fter afry I I 2

S

IH a9 qYT I61, qAL F AT F WA
CRHECR ]

HYd-] :

g8 ¥ 9K # giE & @ e
R & grE i S B

HYH-1I

ol e gt & A A g H A H
SHAYTE! g 21
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82. The number of valence electrons in

86. Which one of the following is the
the 02~ jon is

correct electronic configuration of

(@ 4 chlorine?
b 6 faj 2,7, 8
8 (b} 2,8, 7
{d) 10 {c) 2,8, 8
fd 7,8, 2

83. Within an animal cell, the most

abundant inorganic constituent of

protoplasm is

87. In honey,

which one among the

following sugars predominates?

fa) sodium and potassium sait {a) Sucrose
b} water (b} Fructose
(c) iron {c) Galactose
(d) phosphate (d) Maltose

84. Two conducting wires A and B are
made of same material. If the length
of Bis twice that of A and the radius
of circular cross-section of A is

88. During short-circuiting, the current
flowing in the electrical circuit

fa) reduces substantially
twice that of B, then their
resistances R, and Ry are in the (b) does not change
ratio fc) increases instantaneously
faj 2:1 (d) varies continyously
(b} 1:2
) 1:8 89. The number of aluminium ions
' present in 54 g of aluminium
fd 1:4 (atomic weight 27) is
85. Consider the following statements :
A real image {b) 18
1. can be formed on a screen (€) 1.1x10%*
2. is always magnified and {d) 1-2x102%*
inverted _
Which of the statements given above 90. What is ‘breakbone fever’ most

isfare correct?

commonly known as?

fa} 1 only fa) Typhoid
(b} 2 only {b] Rhinitis
fc/ Both 1 and 2 {c) Yellow fever
fd] Neither 1 nor 2 (d] Dengue

B-MCZA-N-FZS/47A
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82, 02~ g ¥ GElSeRal gaEeHl & g
feht 37
(a) 4
(b} 6
c) 8
(d 10

83. el witr FRe & v Sfasm A
Haifie agat STEHT Toewh HH-H1 87
(a) Tifgam 3 RREm TEw
(b} I
(c) <E
(d) o

84. 3 =M G A 3 B A @ & 7 £
aft B i wEr A fit T R T 2
T A & FaE Agye wisg A B
B % T Igwy it &t fewn @
R 2, @ I wiedy R, ok Ry fem
I | 87
fa) 2:1
(b) 1:2
fey 1:8
{d 1:4

85. fr=fafad sut T« fomm Hhifsw

qriaes sfafa=
1. TR T ™ &1 Tl ¢
2. W aaffa 3 I dan &

Iwth 4 A F-91/Q Fu g §/E7
(@) whael 1

(b) e 2

(¢ 13234

(d aad13mad2
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"~

fraffrs & & 9w wF T 3 T
e = 87

@ 2,7, 8

(b) 2,8,7

¢/ 2,8 8

[d) 7,8, 2

wee i Poefifem 3§ @ *A-d v s
27

(a) THE

(b) wRW

) Team

(d) TeZH

YA & R fogd, wimy #@ vafza @R
A Ur

(a) R T2 I
(b) & "

(c) dePre sl
(d) AR seeid) 8

54 g tgfufrm (T wr 27) & feemm
i At A v T 7

fa) 2
(b} 18
¢} 1-1x102*
(d) 1.2x10%*

‘Fdidis S H GHTIG: 1 Fad 87
(a) SR '
(b) FEI-MY

() e

(@)

[P.T.O.



www.prepp.in

91. Van de Graaff generator is used for
fa) accelerating charged particles
fb) generating large currents
fc} generating electric field
{d) generating high-frequency

voltage

92. The most stable form of carbon is
fa} diamond

' ()
{c} fullerene
{d} coal

graphite

93. Which one among the following is
not a sexually transmitted disease?

{a) Syphilis
{b) Gonorrhea
{c) Scurvy
(d} Hepatitis B
94. The summer and winter seasons in a
year are caused by

(a) aphelion (farthest) and
perihelion (nearest) positions of
the Earth from the Sun during
the annual revolution

fb} rotation of the Earth on its axis
c) variation in scolar insolation
{d) revolution of the Earth on its
inclined axis

95. The latest discovered state of matter
is -
fa) solid
fb) Bose-Einstein condensate
fc} plasma
{d) liquid

B-MCZA-N-FZS/47A 26

96. Which of the

97. After diagnosis of disease

prepp
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following pairs
represents isoelectronic ions?

{a) Na‘t,6 K
{b) Kt , Mg2+
{c) Mg2+, ca2+

(d) Ca2*, 82"

in a
person, the doctor advises the
patient iron and folic acid tablets.
The person is suffering from

{a) osteoporosis
(b)] anaemia
{c) goitre

{d} protein-energy malnutrition

98. Which one among the following is the
coral group of islands of India?

{a) Andaman
(b} Nicobar
fc; Minicoy

{d) Lakshadweep

99. Bernoulli’s principle is based on
which one among the following
laws?
faj Conservation of mass

(b} Conservation of momentum

{c) Conservation of
momentum

angular

{d) Conservation of energy
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91.

92

93

94

95

W S % SR W 39 e s 2
fa) mafim wo ) @ W3 & R
(b) FEQ U T & oIy

(c) o & < & ferg

(d) IA-FAYR Feea 71 & forg

HE F gl Rt w9 $E-ar 27
(a) &
(b) HETER

(c) oA
(d) FrEen

. Frafafgs & 4 S9-w w da-g=iw O

e 37

(a) Tufefem
(b) T
{c) wrd

(d) FeEla B

a4 ¥ ey qan wfte wged F O w1 wmw

T 87

{a) =S ufgemor § yeeft <t i @ W@-
I (Faw) an Wo-df= (adeam)
forfoaf

(b} .geaﬁmawﬁmamajh
(c) ©R FE § T
(d) gt 1 3R A Iy T afeEEw

. e Y Fdfivar @ o seesn -

¥

(@) 3G

(b) WE-3TFRTE TG
(¢} IS

(d) ==
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96. F=fafga A ¥ FF-W T wA-TAFH

st el s 27
(@) Na*, K*
(b) K+,Mg2+
?C) Mg?*t, Ca??

(d) Ca?*, g2~

97. f&dt =afe % U & e & vang e

T ) =7 wa wifers st ) fem a9
$) uelE 2@ & safw fem O 8 fifea 27

(a) el

(b) THA

(c} TEUg

(d) S-S FHmm

98, fafdfa 4 4 =R-91 @ Wi &1 W@

A9-TE 77
(a) M
(o) TEr
¢} Tt
(d) aEd

99, Tl g Prefafgs § A frm o T

W e 27

(a) FEHH WHU

(b) WA HRE

(c) I T TRET
(d) S Erem

[P.T.O.
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100. x A

| N Ao X
VAV

The displacement (x)-time (¢) graph
given above approximately repre-
sents the motion of a

(a)

simple pendulum placed in
vacuum

{b) simple pendulum immersed in
water

{¢) simple pendulum placed in
outer space

(d)

point mass moving in air

101. Dihydrogen can be prepared on a
commercial scale by the action of
steam on hydrocarbons, when a
mixture of CO and H, gas is
formed. It is known as

(a} water gas
(b} producer gas
(¢} industrial gas
{d} fuel gas
102. Dropsy is a disease caused due to
adulteration in
fa) Ghee
{b)

{¢) mustard oil

Arhar Dal

d) turmeric powder

B-MCZA-N-FZS/47A
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103. Consider

104,
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the

following surface

winds :

1. Doldrums

2. Trade winds

3. Westerlies

4. Polar winds

Which one among the following is

the idealized global pattern of these
winds from the Equator to the Pole?

{a) 1-2-3-4
(b} 1:3-2-4
{c) 2-1-4-3
(d) 3-1-2-4
Is
0O >

v

The current (I)-voltage (V) plot of a
certain electronic device is given
above. The device is

fa} a semiconductor

{6} a conductor which

Ohm’s law

obeys

{¢) a superconductor

{d] an insulator

v.- ‘;
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100.

N
VAR

F fau M R (o-um (g e §
forgeh nfa =1 wfree freau 37

(@) Fam # feda e Ao

(b) W@ F Pl we oo

(c) e I W fa W oiew
(d) =g B nif we o g goame

101, TEQ@EA W W H fwm % gm

CURIEEE T e S T Fr Fte e i
Tt 3, W@ CO awr H, Ml @ fgw

il o ®1 58w @ &7
{a) WH-3TR A4

(b) SR T

(c) wehee

(¢) =

102. f=fafiga § 4 fred smfsor & @nw
gt T B &7

fa) Et

(b} I qE
{c) TE H= A
(d) T ot
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103. Fefefad wraela el w Bem fifvw

1. Srgn
2. =aiEs gad
3. uiseft qEm
4. | q3q

frefefam & & s9-w o ymenEr 3
W@ oA @R W ouE W e
quugey wfasy 27

(a) 1-2-3-4

(b) 1-3-2-4

fcj 2-1-4-3

(d) 3-1-2-4

4

© v

ot wiwgife gfe & fow am )
Aieean (V) oo SR fa 8 femn man 2y
a7 e w027
(a) AeiTERR

(b) G, SN 9 Frem F on Fa
2

fc) SRR

(d) Taga-ush

[P.T.O.
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105. Which of the following statements
about hydrogen is/are correct?

1. Hydrogen has three isotopes
of which protium is the most
COMmorn.

2. Hydrogen ion (H*) exists freely
in solution.

3. Dihydrogen, H,, acts as a
reducing agent,

Select the correct answer using the
code given below.

faj 1,2 and 3
fb) 1 only
fe; 1 and 3 only

(d} 3 only

106. Leaves of which of the following

plants are not used for the rearing
of silkworms?

fa) Mulberry
(b) Castor
fc) Oak

{d) Teak

107. Taungup Pass is a mountain corridor
connecting India with

fa) Afghanistan
{b) China
fe} Pakistan

{d} Myanmar

B-MCZA-N-FZ5/47A
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108. The temperature of water at the

bottom of a lake whose upper
surface has frozen to ice would be
around

{a] -10 °C
(b) 0 °C
(c) 4°C

{d) -4 °C

109, Which of the following statements is

correct?

fa) Fullerenes have only six-
membered carbon rings

{b) Fullerenes are
molecules

cage-like

{c) Diamond is thermodynamically
the most stable allotrope of
carbon

(d} Graphite is slippery and hard,
and is therefore used as a dry
lubricant in machines

110. Which one among the following

groups is the most abundant in
terms of mnumber of species
identified?

fa} Fungi
(b} Green plants
{c) Bacteria

{d) lInsects
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105. FEEeH & SR # Fofofa 4 @ S-w/@ 108. Tt 3w i, Feeht w90 dag fawshifm

Fu Ad 8/%7 TR TE T TR R, welt WS w
1. FEENE % @ wwentrs §, Red TS S R F?
Wfean waiftes 3t 2
. (a) -10 °C .
2. BEgNA sEA HY) faem § w6
w9 7 foreme g 21 (B) 0 °C
3. SEEEERM, H,, WEEE F &9
FH T B fc) 4°C
= Re M e w1 @ W oEd I {d] -4 °C
Thul
@ 1,233 109. Fr=fafgs # & Fw-w o ad 27
(b) Fa 1
{i % F9d DE-ueelg wEH
fc) Fae 133 y ;?ﬁ,?aﬁ
(d) Fa& 3

106. fafaflas # @ g Q8 N ofgt =

IR T-F2t F e % fore et g

(a) &G
(b) 3T
(c) W

(d) wPA

107. & = wwa W R AW F Ww A9

Tren vddrg w7 37
(@) ST
) m

fc) wirmam

(d) TR

B-MCZA-N-FZS5/47TA

(b) FERT USH-TGH A7 &

0 & FwmREE s A T @
Tt wurft Aoy 2

(d) Twge wiefer of ®waAW ¥ oaw
gEfifee 2 ool # U Few %
¥ T o R

110. fr=faflas § @ fv-w = =f sffviiE

wfaal A ded & IR | waiitE aga
27

{a) d%
(b) Efta urew

fe) Sfamy
{d) #e
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111. Consider the following statements : 114. While locking at an image formed by
a convex lens (one half of the lens is
covered with a black paper], which
one of the following will happen to
2. Hydration causes granular the image?

disintegration.

.  Crystallization is a form of
mechanical weathering.

{a} Half of the image will be visible

(b} Intensity of the image will be
dimminished

3. Frost action is synonymous
with freeze-thaw action.

Which of the statements given fe) Image will be inverted now

above are correct? :
({d] One can see an image of

smaller size

fa} 1 and 2 only
115. Which of the following acids is a

(b} 2 and 3 only , mineral acid?

{a) Citric acid

{b}) Hydrochloric acid
(d} 71, 2 and 3 {c}] Ascorbic acid

{d) Tartanic acid

{fc) 1 and 3 only

112, Lapland is a cultural region largely

within the Arctic Circle in the north 116. Considering the locations  of

of the Scandinavian Peninsula. Who mountains in India, which one

inhabited the Lapland? among the following is in right
sequence from south to north?

{a) Sami people {a} Doddabetta, Kailash,

Dhaulagiri, Vindhyachal

b} Padau opl |
(b) "E PR () Doddabetta, Vindhyachal,

() Hamar people Dhaulagiri, Kailash
fe) Dhaulagiri, Kailash,
{d) Himba people Doddabetta, Vindhyachal
fd} Dhaulagiri, Vindhyachal,
113. If speed of light in air is 3% 10% m/s, Doddabetta, Kailash
the speed of light in glass (with o
refractive index 1-5) would be 117. A balloon ﬁ'lled' up vEnth gas wogld
: only go up in air if it is filled up with
fa) 2x10% m/s (@) a gas whose density is lower
than air

\ .
(b} 4.5x10° m/s (b} a gas whose density is higher

than air
(¢ 3x10% m/s _
{c) cold air

(d) 1.5x10% m/s {d) water vapour

B-MCZA-N-FZS/47A 32
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111. Frefafes wut w fmn Hiftg 114, {5 Iv@ o= 30 (@ &1 v #= @
1. Treem s summm %1 @ R FIS W T §) ¥4 Tfdfard & 3@y o
2 yfefera Frfafias © @ e - Rad
2. ToEeE % FRO HieeeE faeed et
B R (a) ¥ wfifar gfema @m
3. g fm Refvaa-Resmo B = (b) hafers ht disen &ftor grft
waref 31 (c] o9 wFafd= Sear BAT
I ol 3§ AR T E7 (@ vhivs = awmn REE o
T w1 Awar B
(@} FFA 1 3 2
(b) e 2 3R 3 115. Fefifen enat @ @ =F-w wfe e
27
(¢) Faa 133 (@) R s
(@ 1,2 w3 (b) TGRS 3T
(c) Uit g
112, QYT & FEpS WoN g, S siftewmE: {d) e o
AT e & I ¥ TwyE g9
# 31 oaete A e Fram fen? 116. Wiw ¥ wddl % rergH W RER w3 g
Frafaflas & @ F-w @ 2fim @ T
fa) Tl <6 31 1 T g A7
(b) W S (o) Smg, e, denfiR, freee
(c) B SH (b) SrEeE, Fvme, denfift, Sem
(d) T <m (c) drenfift, e, SgRe, R

(d) el Feares, SwRe, Fam

113, gf ayg § v 9w 3x 108 mys 117. %8 @ w0 =¥ e A § W A R

A, @ Fa (duEdas 1-5) 7 yww ot S s e A
T (@) a N go1 ¥ F0 9HT TR wS
(@) 2x10% m/s g

(6} 4.5%10% m/s (b) giwﬁﬁwmm
) 3x10% m/s o

(d) 1.5x108 m/s (d) S-aTT
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118, Planet A has double the radius than 121. Which one among the following

that of Planet B If the mass of lakes is situated on the west coast
Planet A is 4 times heavier than the of India?
mass of Planet B, which of the ..
following  statements regarding (@) Chilika
weight of an object is correct? (b) Ashtamudi
{a) Heavier on Planet A than on {c) Pulicat
Planet B (d} Kolleru

(b} Heavier on Planet B than on 122. Sound waves are similar to the

Planet A waves
{c) Same on both the Planets {a) of laser light passing through
air
(d) Cannot be measured on (b) generated in a stretched wire
Planet B by hitting or plucking the wire
{c) generated in a pipe filled with
119. Which of the following is correct air by moving the piston
regarding the reaction of fluorine attached to the pipe up and
with water? ' down )
+ - (d) generated by the mobile phone
2F, (g) + 2H,0(l) - 4H* (aq) + 4F~ (ag) + O, (g) Cower
(a) Fluorine is oxidized to F- 123. A sound wave has frequency of 2 kHz

and wavelength of 35 em. If an
observer is 1'4 km away from the
source, after what tirme interval
could the observer hear the sound?

fb) Water is oxidized to O,

fc) Water is reduced to HY

(@ 2s
fd) Oxidation state of fluorine does th) 20 s
not change
{c) 05s
120. The site of cellular respiration in (d 4s

animal cell is . . .
124, Which of the following is/are

amphoteric?
fa) Al{OH);(s) and Fe{OH); (s}
{b) Al{OH),4(s) and HCO3{aq)

| {a} ribosome

) {b) mitochondria

{c) endoplasmic reticulum {c/) Ba(OH),(s} and NaOH (ag)
(d) lysosome (d) Al{OH)j(s) only

B-MCZA-N-FZS/47A a4



www.prepp.in

prepp

ersonal Exams Guide

118. W A #i fisan & B #it B @ gt 24 121. fT=fafen & @ -6 e wa & ofdeh

It 78 A F THUH U B % ToOH & @ T i 87
4 T w2, @ Foafefaa A @ SR-m B
o ol g & W ¥ frem o wd 37 (@)
(b) e
(¢} &, U6 AW, T8 BH go1 § i
2 (c) ghewwe
(b) &, TE BW, T A gew # wh () Fe
3
122, @4 701 F=fafas @0t 4 @ fras aoed
(c) TEG F 9R T T8 W gUE 2 4
(d) I F YT TE B T A @ W (a) 9TV A T T TH B
Hepa (b) Torehl FER gu OR W M@ @ W
4 #ifa # w wfie w
119. wgeltda # w1t % wm il % fw & (c) Foeft amg B il weft 8 2 R
frefafes 4 & «-@ & w8 27 9 3R A= i R 4 sfa q
2F, (g) + 2H,0(l) — 4H" (aq) + 4F~ {aq) + O, (g) (d) WYETEE BN T g s a

(o) TG F I F- A R @R 123, frft @ @ ® smfr 2kHz T

e 35cm Bl uR Yuw wW @

(b) TR F T O, # & e B 14km ® 30 WA, D ww R

() & TR H A @ e A A F GHR A GAE ait?
2
(d) TIAA & ITIER RN Faewd! fa) 2
T2 (b) 20 s
(g 05 s
120. TR =R § =R 99 &1 w=F (d) 4 s

HR-T B?

(@) UsEEH

(b) WG
(c) azsdl suicT
(d) TEEER

B-MCZA-N-FZS/47A

35

124. FoafaRaa ﬁ ¥ ®=H-g1/3 vl /87

(a) AlOH),s) 3R Fe(OH);(s)
(b) ALOH); (s} 3R HCO3 (aq)
() Ba(OH),(s) 3R NaOH (aq)
(d) %@ AlOH)3(s)
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125. Which of the following statements
about vitamins are correct?

1.

2.

Vitamin C is essential to make
connective tissue in body.

Vitamin D is needed for
synthesis of eye pigment.
Vitamin B, helps in

maturation of RBC.

Vitamin C is required to make
use of calcium absorbed from
the intestine.

Select the correct answer using the
code given below.

(a)
{b)
fc)
(d)

1 and 2
1 and 3
2and 4
1 and 4

126, What is the correct sequence from

the smallest to the largest grain of

the following types of clastic rocks?

(a)

(b)

(c)

()

Shale, sandstone, conglomerate,
siltstone

Shale, siltstone, sandstone,
conglomerate
Conglomerate, sandstone,

shale, siltstone

Sandstone, siltstone, conglom-
erate, shale

127. Which one among the following

WAaveEs

bats wuse to detect the

obstacles in their flying path?

(a)
(b)
(c)
(d]

Infrared waves
Electromagnetic waves
Ultrasonic waves

Radio waves

B-MCZA-N-FZS/47A
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128. A fuse is used in an electric circuit to

{a)

(b}

{c)

{d)

break the circuit
excessive current

through the circuit

when
flows

break the circuit when power
gets off

indicate if the current is
flowing uninterrupted

complete the circuit for flow of
current

129, The most of the mass of the atom
can be found in

(@)

()

(c]

(d)

electrons

charges

nucleus

electron cloud

130. The Farce is a group of istands lying
in the Atlantic Ocean between
Scotland and Iceland. This island
group is also known as

(a)

()

fc)

(d)

Island of Sheep

Island of Goats

Island of Cows

Island of Buffaloes
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125, foerfidl & faww # fafafes 4 @ 92
FYA T £7

1. ¥R & ool Taw & fmlu & e
faefim ¢ stawas &4

2. 3 Fofw F dwww & fau
faeifim D savEs @ R

3. RBC # ufwewm A fFafim B,
WA BT 2|

4, 2T ¥ Enile Hfegan | @
# o & for faeifim ¢ srmaws 2)

2 Ry T gz &1 wWm W owd T
]

@ 132
(b) 133
c) .2 3 4
() 134

126. @ga% A Rwmem WO F AR W
firfeaRea wer i gves =gFEl @ W@
3TN -4 27
(o) O, TTIHEH, T, Ty TR
(b) R, Y TR, AFIH, FfehTeH
(c) WIRETH, ST, T, TY =R
(d) FTIEE, TY Tl WYREE, 9

127. 3O IS 99 § E0uE 6 59H % R
Taee Ffafan oo & @ el-dt ™
%1 I w87

(a) ¥EGE qG
(b} foega-greehia a0t
(c) TN T
(d) e wat
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128. forelt foegq wimy & W@ = @0 3w g
34

(@) dfew ¥ afies o0 waie 8 @
uftuy Rr=de w5

(b} foseht =90 9 W wfiwy fa=dea
Cani

(c) 1 F Ao var = i &=

(d) 0 % va® ¥ forg ofoy = of
Eac]

129. foredt w1 waifes s frad g
27

{a) TR
(b} AW
{c) 11BN CS
(d) TEH 7Y
130. 31TCife® HITaTR § Shicas It FEade

% w fom &0 ful = = o §) Te
e foee oft = F oft e e &7

[P.T.O.
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131. The pressure of an ideal gas
undergoing isothermal change is
increased by 10%. The velume of
the gas must decrease by about

(@ 01%
(b) 9%
€} 10%

(d) 09%

132. Tuareg is a pastoral nomad living in
the desert of

{a) Kalahari
{b) Sahara
{c} Arabia

{d) Patagonia

133. A passenger in a moving train tosses
a coin upward which falls behind
him. It implies that the motion of
the train is '

{a) accelerated
(b) uniform
fc) retarded

(d) along the circular tracks

B-MCZA-N-FZS5/4T7A
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134. The mass number of an atom is
determined by

{a} adding the number of neutrons
and number of electrons

{b) adding the number of protons
and number of electrons

{c) the nmumber of protons only
(d) adding the number of neutrons
and number of protons

135. Match List-I with List~Il and select
the correct answer using the code
given below the Lists :

List-I List-IT
{Region) {Characteristic
vegetation)
A. Selvas 1. Tropophytes
B. Savanna " 2. Mosses and
lichens
C. Tundra 3. Epiphytes
D. Monsoon land 4. Grasses and
trees
Code :
fal] A B C D
3 2 4 1
(b} A B C D
1 -4 2 3
) A B C D
1 2 4 3
{d) A B C D
3 4 2 1

136. In optical instruments, the lenses
are used to form image by the
phenomenon of

{a} reflection
{b) refraction
{c) scattering
(d) diffusion
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131. guarfl o & et g feh set A
N TE 10% TG S 2| T snEe
IgHAe: TR g2 s enfee?
faj 0-1%

(b} 9%

fc) 10%
(d) 09%
132, gemn e Wem # @ a9 wyEmE
qrTE &7
(a) FAEH
(b) \E
(c) 3ntfery
(d) St
133. Tfemm e § #% anit o i sw

¥R IoTEa &, | R IEe 99 frar &y
W 3 A & B Yo A iR

fa) a3
(b} THERH ¢

fc) uf<as

(d) THE 99 F ghRe 2

B-MCZA~N-FZS/47A

39

oo w »

prepp

rsonal Exams Guid

134. R wm @ EEE wEn EE g

Fruffta gt 27

(o) =T # wEnm T o f
AT & A 3

(b) W & W wur el &
W& & T g

(c) FIA WH h T=m TR

(d) it &) F= qgr WAt fi gen
% a1 g

135. TEA-1 = G-I & Wy gafem Hifi sk

Rt & 4R Re g 2 &1 W R ad
Wﬁﬁﬂ:
gEft-I [Et-11

(&%) (stfrenafis aawafy)

Aeamd 1. uigh gfig
LiCICH 2. Tig IR AEHA
e 3. sfimTey
TR dn 4. adv ga
%
@ A B C D

3 2 4 1
) A B C D

1 4 2 3
) A° B C D

1 2 4 3
) A B C D

3 4 2 1

136. TR 51 § o6l %1 3@ g afgen

T yfafera s % forg @ &7
(a) TEGA
(b) 3N9EAA
¢} wilq
(@) Tomw

[P.T.O.
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137. Note the following balanced chemical 139. Mulching, an agronomic measure of

equation : soil conservation, is very effective
because it
2C0+0,=2C0, 1. protects soil from gully erosion

Which one of the following
statements is significant in relation
to the above chemical equation?

(@) One can add to a vessel only
2 mol of CO for each mol of O,
added

{b). No matter how much of
these two reagents are added
to a vessel, 1 mol of O, is
consumed

(cj When they react, CO reacts
with O, in a 2: 1 mol ratio

(d} When 2 mol of CO and 1 mol
of O, are placed in a vessel,
they will react to give 1 mol

2. protects soil from sheetwash
and wind erosion

3. helps soil to retain moisture
and nutrients

Select the correct answer using the
code given below.

{a} 1 only
(b) 1 and 2 only
{c/ 2 and 3 only

(d) 1,2 and 3

140. How many cubic centimetres {cm?)

are in a cubic metre (m?3)?

of C02 (a) 103
138. Which of the foliowing is/are the (b) 10°
.  most likely cause/causes of sheet- 5
flood found in western part of fc) 10
Rajasthan?
: @ 1012

1. Scanty rainfall
2. Sudden high intensity rain

3. Loose sandy soil with scanty
vegetation

Select the correct answer using the
code given below.

(a] 1 only
fb} 1 and 2 only 5
fc) 2 and 3 only

(d) 1,2 and 3

B-MCZA-N-FZS/47A
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141. A semiconducting device is connected

in a series circuit with a battery and
a resistance. Current is found to
pass through the circuit. If the
polarity of the battery is reversed,
the current drops to zero. The
device may be

{a) p-type semiconductor
{b) n-type semiconductor
fcj an intrinsic semiconductor

(d} p-n junction
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137, fiwfaies wgfed mwmfs wiem 139, YT, el W H UE FHH-gred

Wm:

2C0 +0, =2C0,

IE vEEtE @l & owew §
frafafea wert § @ wF-m = ads
87

o) T T § frem T 0, % v
| % fw co ¥ Fam 2 uw
firemd =1 e ¥

(b) Tt A, T I aftede
IR St wen fremt = @, 0, @

IR 21 @ ol wvrEwd gaf 2
Fifeh

1. UE SYaAIferRT 319 @ gen w1 guen
et 2

2. =@ i gw@s aw A agEA €@
a1 o Ye et @

3. ug ga1 # Tfi @ ahweRl Y s
W | wEEE A 8

= Ru g w1 W oW wd 3w
EEN

1 A I Bet @ o) 1
(b) a1 3R 2
fe) sfufsn #31 § co #t 0, ¥ ury
2 : 1 W 7gura & tfifan &kt 2 (o) % 2 3R 3
(d) 1,23M3

(@) T @ A co % 2 d@ Ik 0,
H 1 Hid W M ©w S 3ffEn w5

140. T% =9 Wit m3) 4 fre w9 ddH

CO, # 1 I T cm3) a3 ¥7
fa) 103
138, Frafefaa § & wm-u1/8 weee= & afind) b 10
a1 I ot S Al W =Rt ®1/%
TETF Fa HAV § W1 /Ed 2/37 (c) 10°
1. T =t (d) 10'2

2. e 3@ digan 9l g
3. @it agen ge1 % miy fre sty

R Ru 7w g2 = W | §d 3w
gL

141. fredt avfi oftgy 4 o FB o

afRies F aw w aiuwE g W@
Tl o T | wrE Siman & R ooy
T ur yarfea @ @ R Al 920 A gow
B I = s, @ oy 8@

(@ *ad 1 Sl &1 7 g H-d ) et 27
) et 1 3f 2 fa) p-SFHR T ANdETEF
(b} n-VER F FeTern
(c) et 2 3 3 () = srdwrer®
(d) 1,233 (d} p-nTaE

B-MCZA-N-FZS/47A
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142, A fertilizer contains 20% nitrogen by
mass. To provide a fruit tree with an
equivalent of 1 kg of nitrogen, the
quantity of fertilizer required is
(a) 20 kg
b} 020 kg
{c¢; 005 kg
{d) S kg

143. Why is hydrolysis an effective form

of chemical decomposition of bed-
rock in humid tropics?

1. Humid tropics experience high
temperature and humidity.

2. There is high diurnal range in
temperature.

Select the correct answer using the
code given below.

{a) 1 only
(b} 2 only
{c/ Both 1 and 2

(d) Neither 1 nor 2

144, If the distance S covered by a moving
car in rectilinear motion with a
speed v in time t is given by S = ut,
then the car undergoes
{a) a uniform acceleration
(b) a non-uniform acceleration

{¢) a uniform velocity

{d) a non-uniform velocity

B-MCZA-N-FZS/47A
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145. The phenomenon of electromagnetic
induction implies a production of

induced

{a) resistance in a coil when the
magnetic field changes with
time

(b) current in a coil when an
electric field changes with time

fe) current in a coil when a
magnetic field changes with
time

(d} voltage in a coil when an

electric field changes with time

146. Which one among the following is
not a characteristic of a federal
system?

There are two distinct levels of
government

(a)

(b) The responsibilities and powers
of each level of government are
clearly defined in a written

Constitution

{¢/ There is no separation of
powers between the legislative
and executive branches of

government

{d) A Supreme Court is entrusted
with the responsibility of
interpreting these provisions
and arbitrating in matters of

dispute
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142. TF 3AT & THH F IgAT 20% AIg2SH

81 foell % 39 A 1 kg F g TRISA
WH A % U @ @ feaf o
EF 27

{a] 20 kg
(b} 020 kg
fcj 005 kg

d) S kg

143, ST, 3E IwEREy § anurdr i

T a9 Y awe f&f i 27

1. 31T Iopefeay & 393 qm iR adar
Tt & |

2. A9 w1 3= 2w i 2 B

N e m g m w R o =
EE

(@) Fae 1

(b} FHaA 2

fc) 1 3K 2 gl
{d) A1 AR 2

144, vy 9 ® G iy § 99 @ SR T ¢

T BT RN E g (S), S=ut R, A FR
d

(@) TFHAH =001 @
(b) S T §
(c) UEHEHE AT R

(d} A A%

B-MCZA-N-FZS/47A
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145. fg@-gadl 3o & oiwen = ad 5

87

(a) Todt et & Mm whdy @
TSR, W9 PrEh 8T g % W
gitafda g 2

(b) Tt ot ® W@ a1 3w,
@ g & v % wy ofefl
gran &

) T Feoht 3 e aw = e,
5 Y &9 THG & |1y wRafia
& 2

(d) T et § W@ dwem W
e, 59 TR &% W & w
afafia g 2

146. Tr=fafaa # @ -0 v w7y TR =

srfreeor Tt 7

(a) T WER F D gEqs wR AR #

(b) UER F Wad W h facieiat
A wfwal & foifes dfam o
geuayl Pyt g &

(c)mﬁﬁwaﬁtm%m'
et & @9 wRed wm @R
JoeRor T g

(d) FqH AETEE W 3| OITEU @
fdar ot fooe & nwet &
Trenes ) Rrated @i 1 2

[P.T.O.
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147. The Constitution of India guarantees 149, Under which of the following Acts is
the Fundamental Right to Freedom the National Population Register
of Religion to all its citizens. Which being created?
among the foliowing is neot true for
this Right?

{a) It gives freedom of conscience {a) The Citizenship Act of India,
and freedom to profess, . 1955 as amended in 2004
practice and propagate any
religion

. b) The Census Act, 1948
(b} 1t gives freedom to establish () s ©

and maintain institution for
religious and charitable

purposes (¢} The UID Act, 2010

fc} The Right is subject to public
order, morality, and health
_ ! (d} None of the above
{d) The State cannot make any law
which abrogates this Right for

citizens
: 150. Which one among the following
148. The  Scheduled  Castes and is not true about Bal Gangadhar
Scheduled Tribes (Prevention of Tilak?

Atrocities) Act, 1989 may be seen

as giving effect to which of the

following Fundamental Rights?

{a) He started the New English

1. Equality before the Law School in Poona

2. Right against Discrimination

3. Abolition of Untouchability

(b} He founded the Shri Shivaji
Fund Committee for celebration
of Shiv Jayanti

4. Right to Freedom of Religion

Select the correct answer using the
code given below.

fc¢ He preached the cult of

(@) 1, 2 and 3 only self-reliance

b} 2 and 3 only

{¢/ 2, 3 and 4 only {d) He transformed the household
worshipping of Ganesha into a
{d} 1,2, 3 and 4 public event

B-MCZA-N-FZS/47A 14
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147. WA & GagE 39t wff qmfEt «® uif 149. T¥a e MR f=fafes 3 @
1 T 1 gt Sfteer witngg @t 2 PH-8 stfufam % srefr srn s @ 7
W Atwr % ar # Pefafes § @ '
HT-1 | T {7

(@) T a0 6 wEEan I of (@) 2004 ¥ AT W i

wd % T, o wQ it WER uRm, 1955
F ) wdad 3 2 :

(b) & aid it W et & fre (b) SR SrftfRan, 1948
el T ofR oW )
HEaad a1 §

(c) T AR TNk =T8T, GIER 3N fc) UID afafgm, 2010
W & T

(d) TS = R Ym FeR T o oawa d & Q= T
St amiEs! % 34 sfter =1 Fosm -” I
nt

148. sgfva wnfeat ofn orgfre  swenfwt
(e framo) sifefem, 1989 @ 150. o1 W foes & 9r & frafafas § 9
ffafea & @ =R-28 1™ el = FH-H1 TF dg T8t 87
AT A ST F FY ° @7 1w 27
1. fafa & omy guar

&2

TP FT 37T
il Y @aE & AR

Rl

(b} I fim s & TR F R

2 i W B o W W st Rrarsht e F 6 T R

T
(@) a1, 2 3R 3
b) S 2 o 3 (c) FE EEeEE % UY W IRy
c) Fas 2, 334

(d) IER W R WY I A
d 1,2 334 - gEwte Tl § e R
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Tt

WE-qeh AUt T8 THH0 YAt e &1 7 % 9 a9 a6 1 Wiel

# .4t : B-MCZA-N-FZS it gt agEw
R A
156305 TteTor giedent
WTHI=T Tt atetor
g ;2 e 3 e e qUit : 600
AFIW

1. wlign WoW B F g W, AW 36 whuw gt f ugee swava a | B e = fen o, wa
TG FAT YE AYST TyAIW IR T g AR vew R, A 3@ wh whewm giem @ wga AR

2. Fuat vna W % OMR sw-va= A, 3fm wwm ®w, i@ 7w i ohew giws agw (#H)
A, B, Cm D =, = A & o foreft = o fenfe & st ok greeg o0 Y frderd softeem
& B fedt oft war it g /Refa @ faft § sw-vas e a0 R s

3. W e e W Ay § Ry o wmw § e s
R fora 31 wam Ife w e o 7 fad

4, T v geas § 150 v (reF) & 9t § Ry o ¥ am-A it 9m-B) wm-B # wee avim
R ot stirelt 91 & oar B) wels v A /AR TR (3W) R e §1 e @ o e R W 9,
PR e sT-waE W sifRa w5 T §t Al o) tm a R o @ sifhs gege wd €, o S9 wegw
i R A NUF WElH T TR T F o Fae T W W g B

5. vd I W TR FT A {Ru  Iw-nd | § ifed 3 ] u-mw d e fEn g

6. avit gt ¥ I T By

7. 7@ g fF om wam qiiem F fafim TEim ¥ o SW-TE W iR w0 gE R, sIT T
THIO-9 % @Y YE Rl % rgan g9 femw sw-we d 3§

8. 3 3w @t wged A T-uAw § W & Ag A vlen F e Wokae Iu-uEs dfigsE @ dig 4|
AR A/ WY qE gfRE F W A el R

9. %= FW & fAU uFw whaw YR F o d wew #)
10. Tea AU & foru TuE
FAE ayA-uAi ¥ Iufigan g Ry e sw & fow que Rwn o)
(i) 9o v & g fiw/=m s aw §1 wofiean g voE v % fe Re e u et IS T v
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Note : English version of the instructions is printed on the front cover of this Booklet.




